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©))  Note to teschers and parents

Developing mental arithmetic skills

Automatic response—the ability to quickly
recall basic mathematical facts, or to apply a
known fact to a slightly modified situation or

e classr
lator h

t mental arithmetic

the contrary, the
chnology has increased the
ntal arithmetic skill
chlldren Without relatively
eslination prior to calculation, merely
ing afllace value a solution on a screen
t with danger. Inadvertently hitting
e wrong buttons on a calculator is a commonly
pecurring fact of life. The result on the screen
houl

8alculations secondary school students complete

e o(;-r on the calculator, the validity of this

Q @o readily perceived.

f primary school, a child should
abit of estimating and rounding off

ion is reliant upon a sound
er facts, which

con5|stently

The better a student’s ab ]

arithmetic, the less time he or sh@&
devote to looking up answers on a screen, in a
book or on a chart. This point is demonstrated
graphically with the game of ‘beat the
calculator’. Line up your students in pairs and
tell them that some maths questions are going
to be asked of the children who progressively
come to the head of the line. Offer a calculator

throughout the pri

onsid rtﬂrc mmﬂwf pu a:tp

Equé

to one of the two students. Both will want it but
only allow one to prevail. The other student will
complain about how unfair the game is until the
rules are made clear. The child with the
alculator must press the appropriate buttons
and disP*aghe correct answer. Ask the pairs of

an encumbrance®
see who is first Wlth
student using mental a
competent, 350 — 35 = 3
one lot of 35) might still be
9 x 35 = 315.

It is also the case that the fast

calculgtor’s

mu|t|p|| 5
and
tal

etic skills often take o) Iong to recall a

basic number fact that they forget

the algorithm that they are progge
through. For these students the
foundation of times tables knov\@e

inadequate—it is like trying OM gh a

foundation of sand. Withou

prerequisites of number f
algorithmic ‘house’

success. Algorlthms such as |oni

It is invariably thg casg thagfthe broader a
student'ssb atical knowledge,
gs gefil| achieve in the subject
fhjoyment that student will
rom the discipline. The message is
clear: regularly practise automatic response
games and activities, chants and rounds and
all will benefit. Try to teach these number facts
in as fun and meaningful a way as possible.
Incorporate concrete materials and incentives
into your number facts lessons.




Above all, teach for understanding. When
teaching the 3 times table, show that the digits
in the multiples will always sum to 3,

6 or 9. Show that the answers to the 9 times
table always sum to 9. Show that adding on 8.
no harder than adding on 10—jys#sf®Mmp back 2.
Explain that the metric pref®kilo’ stands

the number 1000, theg#fore th&e

1000 grams in a 1
IS 10

(©)

e
na
of TNT

kilometre and, 4

sponse capabilitiesgdemands a
striicture

stematic manner over a period of years. The
uld encompass the full range of the
curriculum, covering measurement
s, data and chance questions as

well as er problems.

this series assist with the
\oFaental arithmetic skills in a

Owits of work. Each unit
%Which can

week could be devoted to the
the six sets.

Each exercise in the book focuses on a specific
concept, such as odd and even numbers, or
digital and analogue time conversions. The
exercises have been set out in a logical sequence
according to topic, for example multiplying by
six or 12 should be taught prior to dividing by six

F-korreyiew:purpnses only

or 12; the concept of length should be taught
prior to its application with the concepts of

perimeter and area. However, the order in which
the exercises are completed can be varied to suit
eeds of your students. The exercises are at
their most™®

viewpin the classte at the time.
he S€o Chart on the inside
front cover sist you to plan

ok wi
for the use of (o)

relevant as possible
learning capabilities.

d toWake it as
tudets’ individual

At the top of each unit of ere §a tip for

the students, to help them w? ough the
exercises in that unit. At the of efch
unit, you will find the relevant utcopnes.

The Handy Maths Facts on pag’ar

included as useful reference material for
students.

thei
scores on the unit exercises and to rate thg
own progress and performance.
A list of answers is found in the Qi
book and can be removed and s

deemed appropriate.

a wide variety of mat
are design‘ed to ;
discipli @ elgP a student’s
atHor ot ary. Knowing, for
‘ 1 I 1 I 1 I
Hemple e the terms ‘add’, ‘sum’, ‘total’ and
altogether’ all refer to the process of addition
will have obvious benefits when a student has

to tackle an addition problem set in context, or
when problem solving.

A Glossary is provided on page 72 as a ready
reference.
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1000 g = 1 kg
1000 kg = 1

WJ |

’\\\

j

@
1

m3=1|_

c ater) weighs 1 g

mho ) re(s)




8 = Some work to doi G = Gettin

How Vle“ am l doing?

After you complete each set of work, fill in your score out of (0.
At the end of the six sets, rate yourself in the following ways

er; F = Finalist; or C = Champion!

S tD

N

Unit Top# \

1 Additi

Bongfhg to
2 ditio

ddin tiples of 10
3 Addi
ing on 1-9

4 btra@tion:

SuBtracting from 20

E [SetF

My
Rating

Subtraction: Subtracting
iples of 1 .

b n:
Subtracting 1-9

7 ling and near
ling
8 H g and near halving
9 t@tion: The 6 times
an mas tables
10 | Multiphgatiop™§he 7 times
and 8 tim®g t
11 | Multiplication: S
and 11 times table
12 | Division:
Dividing by 6 and 12
13 | Division:
Dividing by 7 and 8
14 | Division:

Dividing by 9 and 11




Unit

Topic

Set A

Set B

Set C

Set D

Set E

Set F

Rating

15

Mixed multiplication
and division

16 | Odd and even numbers
17 | Place value:
Digit recognition
18 | Rounding o
Nearest 4, 100 an@ll O
19 | Sequghces:
Finghing t nagules
20 mber s (3
21 Jf Fractiofts and decimals
2 L
Units and conversions
Fagimeter: Concept g
a g
Area:
ncept and application
2 @ :
its and conversions
26 apfacity/volume:
i conversions
27 | Timg: L@l and
anal ersions
2
28 | Time: !/
Unit equival®gc
29 | Money: Economi
of making amounts
30 | 2D and 3D:
Properties and directions
31 |Chance:

Concepts of likelihood

32

Revision: All sorts




. 1 Additien: Bendin§ te 20

un!

Our number

system is based on the W20
number 10 because® ' h"t
have (0 fingerg#See i (\ 0=2+
you can bong
(20) uicok‘OQA tomiee
5 20=11+
0 6 20=3+
0 7 20=18 +
8 20=7+
9 20=14+

Fonsevicw pi

Find the sum of 6 and 14
Find the sum of 8 and 12

Add 3 to the total of 17 and 3
is 9 and 1 and 4 and 6 altogether?

5
6
7 Add 8 to the sum O’ _/__
8
9

(@)

What is 5 and 15 and 6 altogether?
What is 6 greater than 9 plus 117

10 Add9to the sum of 7 and 13




Ser €

20=2+2+2+ D 1 make 20, g WY
20=3+3+2+] | 1 142 |
20=1+1+12+ |
20 =

1
2
3
4
5
6
7
8

D

I/M?at number is nee9®

r.review.purposes.only.

We need 20 runs to win the game and have scored 3. We need

more runs.

| made $20 with a $5 bill, two $2 coinsand __ dollar c
@ am missing 20 cents. | found 5 cents. | still need to find
ed to do 20 sums for homework. | have completed(”

%

©

more

at the

| a journey of 20 kilometres on m ikE. I
4 kilOwg kilom

8 |havetoird SLEQGEKZ@XS@O_ shirts to go.

My dad wants to lose 20 kilograms on his new diet. He has already
lost 3 kilograms. kilograms to go!
| must paint 20 metres of fencing. 5 metres have been painted.

metres still to paint.

NSW: Number NS2.2; Qld: Number concepts N3.2;
Vic: Mental computation and estimation 3.2; WA: Number N3.3; SA: Number 2.8




Unit £
pgdition” Addin

etc. to a humber is as
simple as adding |, 2

See how gell Qdo
this v thwing

Find the sum of 23 and 70 ___
Add 27 to 50 ____
What is the total when 20 is added to 557
3t is 43 and 30 altogether? ____
of 60 and 19%‘\0(\
Educa
Find the total of 68 and 30
What is 70 more than the sum of 3 and 8?7 _____
Is the sum of 36 and 20 more than 557
s the total of 60 and 12 and 10 equal to 927 ____




Sct €
5+40+ 2=
4+20+ 3=
7+60+1=
2+50+ 2=
6+70+

N o0 a0 A WDN -

9 +2 + 90 =

1(0+ + 3 +40 =

: ra has shot 37 netball goals. Her personal best is 20 more than
rPBis goals.

was then

| weigh 31 kilograms™i Cih@gfams more. He weighs
kilograms.

My team scored 47 points and lost by 30. Our opponents scored points.

| scored 46 points for long jump, 50 points less than the winner. The winner
scored points.

NSW: Number NS2.2; Qld: Number concepts N3.2;
Vic: Mental computation and estimation 3.2; WA: Number N3.3; SA: Number 2.8




Remember
to start with the

o\
ySoro
iel with

Add 9to 27
Add 4 to 56

7 fe total of 6 and 32
8 Find the total of 36 and 9
9

Is the sum of 75 and 7 more than 82?

10 Is the sum of 23 and 8 equal to 317 @




In the morning it was 6 degrees. It rose 25 more degrees in the afternoon.

“EOt e ly
It was e'cil'egree in )—EngWR L!grrggc§ﬁ§elage.r|! laid
W degrees.

7\@mscored 66 points but lost by 8 points. The winning team sa{@

boin
4 e in the netball the Phoenix were 37 goals. They score{'&' s in the
er. At three-quarter time they had scored _____ goalsQ
5 %s and then was given 5 more. | now have@‘o es.
6 re lollies than this total. How manydo®s ave?
7 lown 17 CDs hg £|)e T horg X Swn____ CDs.
8 | have ridden 92 kilometre er has ridden 6 kilometres

more than me. He has ridden ilometres on his bike.
| am 9 years old. My sister is 3 years older than me. She is years old.

There are 23 trees in my garden and 8 in next door’s garden. The 2 houses have
trees altogether.

NSW: Number NS2.2; Qld: Number concepts N3.2;
Vic: Mental computation and estimation 3.2; WA: Number N3.3; SA: Number 2.8




If you can bond to 20,
taking away from 20 wi
be very easy.
remember that g

Remove 8 from 20 and add on 2

Remove 5 from 20 and double the answer

Remove 2 from 20, 4 times

Remove 16 and then 2 and then 1 from 20




HOW many
More do you
need to take

away from 20
to reach 0?

L]

[ ] 1

D 2 20-8-1-=
[ ] 3

L]

~

IFbZO ceijs nd T t 15 cents. | ha ce tséfs rl

FOr XEVIiEw. purpoSes anly
birthday is on the 20th of June. My friend was born on the 12th of Jugle.

@ days older than she is. ,iu

| gaft find 4 of my 20 pairs of socks. | can only find pairs of
scored 20 goals and | scored 7 of them. The rest of t ’gea

scored

My dad’s bi
more days.

My dog weighs 20 kilograms and my cat weighs 9 kilograms. My dog is

kilograms heavier than my cat
Of the 20 t-shirts | own, 6 are too small. Only fit me.

3 of my 20 video games are rally-driving games. are not rally-driving games.

NSW: Number NS2.2; Qld: Number concepts N3.2;
Vic: Mental computation and estimation 3.2; WA: Number N3.3; SA: Number 2.8




Just like when
we add on 10 or 20 or
30, when 10 or 20 o

9-20=
heed to chapfe t 32_-30=

94 - 90 =
35-30=
18-10 =
27 - 20 =
31-30=

For reviéw purpose
©

Sct & / Take 20 from 37

@ Take 30 from 72

Q btract 20 from 84

4 %}f 30 from 66
el @B} 2(

Reduce 94 Bym3(

Find the difference between 64 and 20
Find the difference between 72 and 30

Remove 20 from 87

Remove 30 from 921




Sct €

1 134-20=
2 177 -20 =
3 144 -30=

138 - 30

or review purposes only

1 § | had 35 cents and spent 20 cents” | had _ = cents left.
2 \l $47 and then bought a game costing $30. | had _____ left. . CD'
3 RO of gur 67 Year 4 students were sick. ___ were at school. \\
4 ce was 74 km long . After 30 km the drivers had ___ k%
5 y 59 stickers. | had ______ stickers lefft. @
6
7  Southside ns and beat us by 20. We, scorgd .
ni -Foey e)74 -
8 Eﬂg;nglrte\év;s rges lejﬂﬁ Part. In Hobart it was
9 Grandma is 63 and is 30 years older than Mum. Mum is _____ years old.

On the test | scored 89 and beat the average by 20.The average score was

NSW: Number NS2.2; Qld: Number concepts N3.2;
Vic: Mental computation and estimation 3.2; WA: Number N3.3; SA: Number 2.8




v 0 SubtraStion: Suberastitg 1=1

Subtracting
[, 2 or 3is easy.

Subtracting
9 and 8 is liké

Take 5 away from 43 ___
Take 9 away from 71 ___
uee 55by 4

Subtract 3 from &2

What is 17 minus 8?7 ___

What is 64 minus 6?7

What is the difference between 82 and 4?7 ___
What is the difference between 9 and 77?7




| shared

reviéw-purpeses only
@ | gave 5 to Sara and had ____ left. . @,

| gave 6 lollies to Robert and then had left.
G@gave 2 lollies to Tran and then had left.
&ave 8 lollies to Claire and then had left.

| gave 6 to Nicholas and then had left.

| gave 7 to Jamil and kept the rest. | had lollies for myself.

NSW: Number NS2.2; Qld: Number concepts N3.2;
Vic: Mental computation and estimation 3.2; WA: Number N3.3; SA: Number 2.8




Knowing
how to add a humber
onto itself (doublmg)

know the 2 timgé
you can dou 2




Double the 15
following

~Jeview purposes only

saved

2 i @6 degree(sjin the morning and doubled in temperature in the a.ftm
en __ degrees.
3 d 13 goals but our opponents doubled this score. They kic goals.
4 pairs of shoes and Mum has twice as many. She has of shoes
5 d $quthside’s score. They scored 34 runs. We scored
6 |weigh?2 Sybrother weighs twice this total. He w% :
7  There are 39 ch r twice this ‘\@(Y\e 6. In Year 6 there are
_____ children. Fdd/UCﬁ
8 In 2004 | had 52 stickers. Now | N3VE=#eE this total. | now have ___ stickers.
9 In 2003 oil was $26 a barrel. In 2004 it doubled in price to _____ a barrel.

10  Start with 5. Double the number again and again and again. The number is now :

NSW: Number NS2.2; Qld: Number concepts N3.2;
Vic: Mental computation and estimation 3.2; WA: Number N3.3; SA: Number 2.8




Halve the
If you can double A Hlowmg
a humber, thenh you can
halve it as well

because onhe is \
opposite of the othgr. (
It's like sayfng thegyi
you can afld, yo t

be ablefto s@t s
well, hecause are
p@oo.

Find half of 46
Find half of 122
What is half of 4207

2%ishalfof
5}ishalfof
20%is halfof
50%is halfof




-
Halve the following numbers.
1 3

5 €

Halve the
following
numbers.

goals.

Iy half of our 66 members turned up for the meeting. There WeR
bers there.

~
our 30 students have colds. _ students have colds. ‘D’

\e

Half of

age 52 of my book and am halfway through it. It co
her is 3+. The numberis ____. ?\0
/@rs are swaps. | have

Half of my $8 is in 50 cefft"=e

| spent half o

0 cent coins.

| watched TV for half of the time between 9 and 11 o'clock. | watched for
minutes.

| could only run for half of the 2 km race. | ran metres.

NSW: Number NS2.2; Qld: Number concepts N3.2;
Vic: Mental computation and estimation 3.2; WA: Number N3.3; SA: Number 2.8




Numbers
in the © times table
are even and are all

Find the product of 4 and 6
Find the product of 4 and 12
Why is the answer to Question 2 twice the answer @

% uestlon 17 =
/ rd mu|t|p|e of6
/T
6 Is72the 8t

7 Multiply8by 6
8

9

Multiply 7 by 12 and add 4 % %
Take 2 from the product of 6 and 6 . %
10 Take 8 from the product of 12 and 12




3x12+3 =
10x6+7=

review purposes 0

How many sides are on 7 hexagons?
How many eggs in 4 dozen?

12 inches made a foot.
In Australia’s innings, 7 sixes were scored. runs were scored in sixes.

In football, a goal equals 6 points. 4 goals equal points.

NSW: Number NS2.3; Qld: Number concepts N3.3;
Vic: Mental computation and estimation 3.1; WA: Number N3.3; SA: Number 2.8




Nuro®” Uﬂit ‘o
Mu‘tiﬂica‘ticn: The

For numbers
x7

in the 7 times table, if
you double the ones ape

les

7 tineS and § tifes tib

Multiply 7 by itself ___
Multiply 8 by 4
Find the product of 12and 7 ____
jne the product of 6and 8 ____
!(@ by itself
HoviRg 297356
How many 8s mat
What number is in both the 7 and 8 times table?

Which numbers in the 20s are in either the 7
or the 8 times tables?

Find the 11th multiple of 7




Set €

1 3x7+2= 1 63

2 4x8+10= , 2 65
Write ‘7' or '8

3 11x7+5= if the number S 28

4 5x8+11= Sjinoneof 4 32

5 5

6 6

7

@ How many legs are on 5 octopuses?
Septuplets are 7 babies born together. 11 septuplets =

i ?
How many legs are on 3 spiders? ; °‘5"
{4
@N many sides are on 8 octagons? b

eftggon has 7 sides. 7 heptagons = sides..?s mm\
L4

| aG a0y Grandpa is 8 times as old as mﬁ
The hep

2 a S entag
| have 8 five-cenT™eaig E; a

My 7 ten cent coins are worth cents altogether.

years old.

events.

o cents altogether.

©O YV 00 N o w

| am 9 and my Grandma is 7 times as old as me. She is years old.

NSW: Number NS2.3; Qld: Number concepts N3.3;
Vic: Mental computation and estimation 3.1; WA: Number N3.3; SA: Number 2.8




Unit Tl
" ation; T’,e 9 tin

Numbers in the 9 @

times table have their

digits summing to 9 or (& §o= -
So for, 27: 2 + 7449. \g‘

Numbers yfthe ( x9 =
times tablg havesthei 2
outside g ua[[iQir 8x9=
inside ghen orMpa d. 12x9 =

: : 3x9=

6x9 =
10x9 =
-10 9X9=

FOREVIEW DUFPOSE

eS ahd {1 tiMes taues

1 Find the product of 3 and 11 _

Q Find the product of 7 and 9 __
@ ultiply 8 by 11 ___
/};&h} Aby9
5 WV a/éffth ltiple of 97 .

6 Whati
U/

7  How many elevens make

* g8 How many nines make 1087 ___
9 Add5 tothe product of 5and 9 ___
Reduce the product of 11 and 4 by 10 _ I(

-




Set €

1 4x9+10=
1
3 8x9+3= 2 88
Write ‘9’ or 11. 3 70
4 9x11+ 2= he number is
inthe 90 4 44
5 imes le and
6 'nei’m
numpbe
7 in either tabl
8

L review. purposes.only..

sister collects $5 notes and has 11, worth altogether.

@;onagon has 9 sides. 3 nonagons have ____ sides altogether. '\\
@decagon has 11 sides. 7 hendecagons contain ___ sides@
‘ @are 11 players in a soccer team. 8 teams contain _____ :

| g %from school. In a week | travel ____ km to and {rong"sghool.
There'% fle

pets altogether.

N o0 o1 b~

oo
<
<
O
0
O
c
w,
S
wn
D
Y

9 Imade up 11 lolly bags, each coftaining 10 lollies. | used lollies
altogether.

| am 9 and my great-uncle is 11 times as old as me. He is years old.

NSW: Number NS2.3; Qld: Number concepts N3.3;
Vic: Mental computation and estimation 3.1; WA: Number N3.3; SA: Number 2.8




Dividing means
‘to break up into equal Slohor- Divide the following
i Videy numbers by 6
pieces’. DlVldmg by 6 g y 6.

Because diVisio %
opposite g mul@

2 times 3 60 \

4 5, T

/// emainder is left When the
<) EAUC
w




D ™

17 D
11 D What remainder is left
2 when the following
Which numk();ar.sd d 3 2 numbers are divided by 6?
have been iviae
A 9

1 21
2 33

by 12 to produce
the fO\\OW"ng U

L
ansWerS? 6 L sg

How many hexagons equal 72 sides?
132 loaves of bread equal dozen loaves.

@ 60 months are equal to years.

% legs can be found on insects.
L 4
/#xave lived for 96 months you wo years old.

6 Q 84 inches = ____ feet
7 54 points |
8 67 eggsequal ___ dozen with ___left over.
9 66 runsinsixes equal ____ 6sin cricket.
10 | bowled 18 balls in the cricket match. This equals _____ overs.

NSW: Number NS2.3; Qld: Number concepts N3.3;
Vic: Mental computation and estimation 3.1; WA: Number N3.3; SA: Number 2.8



Unit 13

NWELLE Dividi"®

When we divide
numb

by 7 or 8, it is the Sby7 '
opposite of multiplyifig
by 7 or 8. So wp€nh 21 \ .

oINS
/"(/ Set B

. Divide the following
: numbers by 8.

lit i ~
split mt.o 7 ﬂ 20 A
we can fing r |
countingfin f7 4 21
until w@ rea 7, \4, 5 28
21 =3 gfoups. Thus, 6 77
21 jspl equal 7 56 40
parts equals 3.
8 14 88
9

For revie

m@r%s

Find the quotient of 7 and 42 ___
Find the quotient of 88 and 8 ___
Bivide 63 by 7 ___

04

What is the remainder when 50 is divided by 87 ____

4
5
6
7 What is the remainder when 50 is divided by 7?7 ___
8
9 Divide 56 by 7 and then by 8 ___

0

Split 84 into 7 equal parts. How many in each part? ___




What is the
remainder
when the
following
numbers are

divided by 7?

What is the
remainder when

How many spiders equal 24 legs?
2 How many heptagons have 49 sides?

28 events equal heptathlons.

88 sides equal octagons.

@egs are on octopuses.
4 M/ are in teams of 8. There are

6 n i 6

8 | have 64 sti™ N DackRets O1 8 gve ____ packets.

9 Anoctave is an 8-line poem. 96 lines are in ____ octaves.
10 84 lollies were put into bags each containing 7 lollies.

There were lolly bags.

NSW: Number NS2.3; Qld: Number concepts N3.3;
Vic: Mental computation and estimation 3.1; WA: Number N3.3; SA: Number 2.8




Unit 14

[ J [ J .n
Dividi"S
Divide these
numbers by 9.

Remember that
dividing by 9 and 11 is
the exact opposite of

Divide these
numbers by 11.

Divide 45 by 9 ___
Divide 88 by 11 ___

How many nines make 277 ____

How many times can 9 be subtracted from 1087 ___

How many times can 11 be subtracted from 667 ___

What is the remainder when 50 is divided by 97 ___

What is the remainder when 103 is divided by 117 ___




What is the
remainder

What is the when jche 32
remainder following 36
when the umbers are -
following

numbers are 66

divided by 97

1 77 cricketers can be put into teams of 11 players.

@ 132 soccer players can be put into teams of 11.

72 sides are on nonagons. A
buttons are on a shirt. 54 buttons are on shirts. \' v/

%rainy days per month. 66 rainy days in month @

ries in a punnet. 81 strawberries in

&/

| iV

ool in days.

school. | travel 36 km_t® @T\
tEdU@%\/ cp#ftravel to and from the

9  There are 9 pages in each chapter. 45 pages are in chapters.

| live 11K
city times.

10  There are 11 girls in each class. There are 99 girls at school. We have
classes at school.

NSW: Number NS2.3; Qld: Number concepts N3.3;
Vic: Mental computation and estimation 3.1; WA: Number N3.3; SA: Number 2.8




See how
well you can
remember

agf
Qi

4 x5 =
8x6=

FonseviclV Durpose

Multiply 5 by 6 and add 7 ___
Fmd the quotient of 132 and 12 ___

e product of8and 3

G

5

6 Divide™™8Q)b

7 Triple12and add4 ___
8

9

Divide 60 by 10 and then by 2 ___
Multiply 3 by 3 and thenby 8 ___
10 Triple 4 and then double this number ___

r when é“x




0o N o060 o AW DN -

For-review-purposes

1
2 A 50 cent coin has 12 sides. There are'84 sides on 50 cent ¢Bins.

ere are sides on 6 squares.

1Jggoals in Australian football equal points.
cles have wheels.

5
6 % containing nine $10 bills holds _____in total.
7 WO
8 s, each containing 6 muffins muffins.
9  Buying $40 Wag ill @“
10 A 7-year drought lasts 18 NS,

NSW: Number NS2.3; Qld: Number concepts N3.3;
Vic: Mental computation and estimation 3.1; WA: Number N3.3; SA: Number 2.8




~ant
\Qnt
1

Odd numbers
endint, 3,5, 7 or q.
Even numbers end i
0, 2, 4, 00r @

The third oddgiumbgr (
comes befop€ thegihi

What is the next odﬁ

number after:

2 [ |

7
1
28
36
45
62
73

()]
—
© N O Ul A W

200, and so on.

For review,purpos

-
; , 3 -
~ swers to the following
quagtfo /?/doreven? 4 11x9




Will the answers to these
questions be odd or even?

What is the next even number after:

9? 1 4+8

What is the 5th odd numbe

What is the 11th even nu

N

What is the 50th even number?
10 What is the 50th odd number?

NSW: Number concepts NS2.1; Qld: Number concepts N3.1;
Vic: Numbers, counting and numeration 3.1; WA: Number N3.1a; SA: Number 2.6




We know that our

What is the Write down the values of

counting system is the following numbers.

bers? Write
based on the number or units, {\ 1 0+ 700 + 30 + 2
10, because we ha Q

fingers. So, egéh tim
we have 10 gf a has + 10Q+70 + 9
unhit, W& need 2 5633
introducf a 3 3870 3 4000 ¢
{0 ongg or ake 4 2931 4 1000 +
{Ofhun make
6 3487 e
(000, etc.
7 2138 6 6000+ 70 + 3
1 I
For review: purposeson
9 3492 7 80 + 2000
10 8030 8 100 + 3000 +m‘
What is 1 less than 10? 9 40+ 20@ 000
hat is 1 less than 1007?
is,] less than 10007 10 8 "‘ 900 + 1
t// than 10 0007?

How m n mEthj @
G .\
How many tens m m
or "
How many tens make ten thousand? (> L) >

How many hundreds make a thousand?

How many hundreds make ten thousand?

O Vv 00 N oo 01 &~ W

—

How many thousands make ten thousand?




M- )
ST ) T T Answers

Unit 1 Addition: Bonding to 20

Set A Set B Set C Set D Set E Set F
1 15 15 1 14 1 6 1 20 1 $12
2 1 2 4 2 12 2 2 2 20 2 7

3 18 3 6 3 6 35 3 23 3 17
4 4 4 4 4 2 4 9 4 20 4 11
59 51 5 5 5 15
6 17 6 6 6 6 6 11
7 2 7 7 7 16
8 13 8 8 8 8 9

9 6 9 0 9 17
10 20 0 10 20 10 15

it 2 Additien: l\ddin& on nulti"les

Set C Set D Set E
1 47 1 91 1 93
2 27 2 83 2 77
3 68 3 68 3 75
4 54 4 73 4 73
5 77 5 55 5 79
6 38 6 76 6 86
7 89 7 99 7 98
8 73 8 65 8 81
9 96 9 9

0 0 10

OvVoOoNOCURARWN-=-A

)

110 117 14 15

2 2 2 13 2 2 10 29

39 3 15 3 19 3 1 3 20 3 8

4 3 4 11 4 15 4 12 4 10 4 16
5 4 519 5 20 5 10 5 14 5 13
6 7 6 12 6 17 6 11 6 no 6 12
7 8 7 20 7 14 7 10 7 14 7 12
8 5 8 16 8 12 8 17 8 30 8 N
9 1 9 14 9 18 9 7 9 12 9 14
10 6 10 18 10 11 10 7 10 1 10 17

Mighty Mentals Book B/Macmillan Education Australia



Up,up ond ou)ojl
..%((

Unit o &ubtraction: Subtracting multiples of 10

Answers

Unit 6 Subtraction: SuLtracting -9

Set A Set B Set C Set D Set E Set F
1 7 1 26 114 1 14 17 1 15
2 8 2 27 157 27 42 2 $17
39 3 54 114 3 46 64 3 47
4 2 4 21 108 4 57 36 4 44
54 5 58 o 51 5 39
6 5 6 14 64 6 27
7 8 7 75 4 7 63
8 7 8 36 8 14
91 9 9 33

10 3 0 69

Set A Set C Set D Set E
1 1 25 1 36 1 38
2 1 2 68 2 24 2 62
3 25 3 27 3 48 3 51
4 4 63 4 75 4 34 4 26
5 5 56 5 17 5 87 5 19
6 6 86 6 77 6 73 6 79
7 7 35 7 86 7 38 7 9
8 8 47 8 21 8 79 8 58
9 9 62 9 42 9 68 9 78
0 0 0 0

wn

OvVvVoONOCUURARWN-=

-—

wn
)

-+
>

16 115 1 23 1 84
2 11 2 40 2 144 3 2 61 2 33
3 23 3 20 3 221 3 5% 3 210 3 15
4 41 4 35 4 320 4 7%+ 4 124 4 104
5 33 5 50 5 444 5 10+ 5 88 57
6 24 6 45 6 133 6 14% 6 666 6 42
7 31 7 30 7 240 7 15% 75 7 $5.50
8 44 8 25 8 344 8 18% 8 11 8 8
9 22 9 55 9 404 9 21+ 9 4 9 60
10 34 10 60 10 304 10 24+ 10 101 10 1000

Mighty Mentals Book B/Macmillan Education Australia
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O VOO NOCUTA,WN=

Set A

42
12
66
30
54
72
18
48
24
36

Unit 9 Multi‘:licationz The 6 tines and 12 times tsbles

Set B Set C Set D Set E Set F
1 48 1 26 1 6,12 1 24 1 42
2 96 2 39 2 6 2 48 2 48
3 84 3 67 3 neither 3 12 is twice 6 3 120
4 144 4 40 4 6,12 4 18 4 36
5 5 5 120 5 30
6 6 neither 6 6 66
7 6,12 7 54
8 8 6,1 8 60
9 6 9 42
O 10 6,1 10 24

OVvVoONOCUURARWN-=

4

Multiplicztion: The 7 tines and 3 tine

Set C Set D Set E
1 23 17 1 49
2 42 2 neither 2 32
24 3 82 37 3 84
4 96 4 51 4 38 4 48
5 48 5 82 5 7and 8 5 64
6 72 6 60 6 neither 6 9
7 80 7 43 7 7 7 12
8 56 8 40 8 8 8 56
9 32 9 78 9 neither 9 21,24,28
10 64 m 10 81 10 7 10 77
HEEE "7 aVl Al Jal\YIiIVFalZ\VY VT EE || aVa
R UV AL iV v
Unit [Piptrastion: The B ey (1Ptives Sable
Set B SetC Set D Set E Set F
1 55 1 46 19 1 33
2 88 2 60 2 1 2 63
3 22 3 75 3 neither 3 88
4 121 4 101 4 11 4 36
5 77 5 85 5 9,11 5 72
6 66 6 71 6 9 6 22
7 44 7 35 7 11 7 10
110 8 101 8 neither 8 12
A" 9 100 99 9 50
0 5D » 10 29 10 neither 10 34 ‘

O VOO NOULA,WN-=

—

Set B

Doo

jon: Dividing b

Set F

14 15 112
2 6 2 29 2 N
3 1 3 24 32 3 10 35
4 8 4 108 4 1 4 3 4 4
52 50 5 3 5 11 58
6 5 6 60 6 1 6 8 6 7
7 12 7 120 7 4 70 79
8 7 8 96 8 1 8 4 8 5,7
91 9 48 9 2 95 9 N
10 9 10 72 10 5 10 4 10 3

Mighty Mentals Book B/Macmillan Education Australia
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Unit 13 Divisien: Dividin& l»y 7 and 3

Set A Set B Set C Set D Set E Set F
112 110 12 11 16 13
27 2 3 2 6 2 7 2 1 27
3 10 39 30 33 39 34
4 3 4 4 43 4 5 4 12 a4 11
5 4 5 5 5 55
6 11 6 6 6
7 8 7 79
8 2 8 8 8
9 9 9 4 9 12
10 6 10 12
Unit 1% Division: oavading by 9 and 11
Set A Set C Set D Set E
15 14 15 6

9 2 8 2 10 28

6 31 33 33 ,s

12 4 6 48 4 12

3 50 50 5 4

8 65 6 1 6 8

4 7 4 75 7 1

2 8 7 8 0 8 6

11 9 2 9 7 9 5

10 00 02 0 4

wn

1 1 40 1 2n1 1 14
2 2 120 2 4r2 2 37
3 3 36 3 2r1 3 1
4 4 18 4 513 4 24
5 5 40 5 6r3 52
6 6 27 6 10r1 6 2
7 7 100 7 4r5 7 40
8 8 96 8 11r 8 3
9 9 60 9 7r2 9 72
10 10 108 10 7r7 10 24

Uy

Set A Set F
1 even 15 1 1 10
2 odd 2 1 2 2 even 2 9

3 odd 3 23 3 238 3 even 3 odd 3 22
4 even 4 45 4 548 4 odd 4 odd 4 21
5 even 5 99 5 788 5 even 5 even 5 40
6 odd 6 161 6 900 6 even 6 even 6 39
7 even 7 275 7 1000 7 even 7 even 7 66
8 odd 8 483 8 1028 8 even 8 odd 8 65
9 even 9 1091 9 2388 9 even 9 odd 9 100
10 odd 10 8001 10 3880 10 odd 10 even 10 99

Mighty Mentals Book B/Macmillan Education Australia
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dioyt Cecoomition A
o o 10 S nswers
Unit 17 Place valve: Digit recognition

Set A Set B Set C Set D Set E Set F

1 H 1 2732 1 7040 1 130 1 9 1 100
2 U 2 3179 2 603 2 27 2 99 2 10

3 TH 3 4050 3 8307 3 7300 3 999 3 100
4 T 4 1009 4 9710 4 23000 4 9999 4 100
5 H 5 5 3 5 5 1000
6 TH 6 6 6 6 10
7T 7 7 100
8 T 8 8 8 1000
9 TH 9 92 10
10 T 0 10 10 100

4

OVvVoONOCUURARWN-=

)

n
)

-+
>

O VOO NOULA,WN-=

—

_, A NN Ny
NV O =~ PO = WO D>

-

Set B

o h WN =
N
a1

OvVvVoOoONOCCUUR~WN-=
(O]
e

a/-)Uni

wn
(0]

-
0O

100
100
300
300
500
500
700
800
900
900

NV oONOUT A~ WN-=-

|
-
o

Set C
+6
+4
+10
+11
+5
+8
+7
+9
+12
+20

oOvoLoNOCCUuR~WN -

cquenec

18 Counding off: Nearest 10, 100 and' i

Set D

1000
1000
1000
2000
2000
4000
5000
5000
7000
9000

OVvVoONOCUTAE,WN-=

cer

=11

Set E
1
450
750
350
650
150
250
950
1050
1450

-
OvVvVoOoONOCUUR_~WN-=

OVONOURAWRN= g’
e+
TsXOoOM<CcRARZ m

-

5

9

ONvMoOoNOCUBA~WNDN

1
1
8
1
3
3
0
2
3

-—

0 Nunber stri

dued

25
14
11
60
55
57
12
7

OV oNO U AW

—

o8

OV oONOUA_,WN-=
N N
o

-—

Set F
44
17
16
10
17
19
44
$55

ONvMoOoONOCUUA_WN-=

-_—

16

Mighty Mentals Book B/Macmillan Education Australia
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Answers

Unit 21 Fraetions and deginsls

Set A Set B Set C Set D Set E Set F
17 15 12 1 15 11 14
2 4 2+ 2 4 2 & 2 6 2 10
35 3+ 310 3 07 38 36
4 28 4 % 4 4 4 09 4 4 4 12
5 20 5+ 5 8 0: 5 10 5 30
6 70 6 - £ 7 6 6
7 20 7 8 & 79
8 10 8 " + 8 15
9 48 9 & 9 8
10 0. 10 27

nit 22 Leng‘t’\: Units and conversions

Set A Set C Set D Set E
1 0 1 20 1 1 metres 23
7000 2 50 2 2 centlmetres 7‘
10 000 3 100 3 3 centimetres 4
4 5 4 4 millimetres
5 75 5 5 kilometres
6 6 6 6 centimetres
7 9 7 7 centimetres
8 4 8 8 kilometres false
9 I 9 9 millimetres 9 false
1 0 1%+ 10 10 metres 10 2000
P | aVll JdaVaYaVYaVYalllalal vy s
' [ | ' Y
- . v, A VA
U crincter: Ben J WsSthE ~Sides
S Set B Set C Set D (in any order) Set E
1 3 mm 1 20 mm 1 L=2Tcm;W=1cm 1 15 cm
2 4 4 mm 2 32mm 2 L=20cm;W=2cm 2 20cm
3 6 mm 3 28 mm 3 L=19cm, W=3cm 3 25cm
4 2cm 4 26 cm 4 L=18cm; W=4cm 4 30cm
5 7 cm 5 62cm 5 L=17cm W=5cm 5 35cm
6 11 cm 6 40 cm 6 L=16cm, W=6cm 6 40 cm
7 5m 7 10m 7 L=15cm;W=7cm 7 45cm
8 m 8 40m 8 L=14cm W=8cm 8 50cm
9 gRkm 92 6km 9 L=13cm, W=9cm 9 60 cry
10 1 S 10 18 km 10 L=12cm; W=10cm 10 '0“
-
it i: Ar, Concept and “@(\
Set A u&a Set F
1 6sqcm 1 144 sgm sqm 1 Western Australia
2 50sqcm 2 16sgm 2 2 sqm 2 Tasmania
3 32sqcm 3 49sgm 3 2cm 3 sgcm 3 sgm 3 false
4 72sgcm 4 81sgm 4 2cm 4 sgcm 4 sqgcm 4 true
5 35sgqcm 5 121 sgm 5 4cm 5 sgcm 5 sgcm 5 true
6 88 sqcm 6 9sgm 6 6m 6 sgcm 6 sgqcm 6 true
7 72sgcm 7 64sgm 7 6m 7 sgcm 7 sgm 7 false
8 80sqcm 8 100sgm 8 4m 8 sqgm 8 sgcm 8 area
9 60sgcm 9 36sqm 9 11m 9 sgm 9 sgm 9 false
10 1000 sg cm 10 25sgm 10 10m 10 sqcm 10 sgm 10 true

Mighty Mentals Book B/Macmillan Education Australia
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Unit 29 Mess: Units end eenversions

Set A Set B Set C Set D Set E Set F
1 5kg 1 3000g 1 100g 1 200 g 1 grams 1 3000
2 3kg 2 4000 g 2 900 g 2 250¢g 2 grams 2 2
3 9kg 3 8000 g 3 500¢g 3 30049 3 kilograms 3 10
4 11 kg 4 12000g 4 9509 4 6kg 4 grams 4 5
5 20 kg 5 5 750 5 kilograms 5 false
6 +kg 6 6 6 6 kilograms 6 scales
7 13kg 7 7 7 gram
8 4+kg 8 3 8 8 8 3
9 7+kg 9 9 9 lighter
10 10+kg 0 10 10 true

20 CS‘,&City/volme: Units and eenver

Set A Set C Set D Set E

1 00 mL 1 200 mL 1 mL 1 1kg

2 00 mL 2 750 mL 2 mL 2 500g

3 8000 mL 3 8L 3L 3 1500 g

4 4 5000 mL 4 50 mL 4 L 4 4kg

5 4o 5 9000 mL 5 2L 5L 5 4500 g

Y B 6 2500 mL 6 40L 6 L 6 8kg

783%L 7 4500 mL 7 2000 L 7 mL 7 10kg

3 8L 8 9500 mL 8 300 mL 8 mL 8 100 kg
53L 9 7500 mL 9 1+L 9 L 9 1000 kg

10 10+ 10 6500 mL m 10 50L 0 0 10000 kg

4

Set C Set D

1 past 3 8:23 1 5 minutes to 7 1 5:50 1 20 minutes 1 25
2 past 10 : 2 20 minutes to 9 2 3:36 2 10 minutes 2 58
3 3 12 minutes to 12 3 11:52 3 20 minutes 3 Z
4 4 25 minutes to 5 4 4:40 4 25 minutes 4
5 5 1 minute to 3 5 2:58 5 13 minutes 5
6 6 29 minutes to 6 6 10:53 6 25 minutes indites past 3
7 7 11 minutes to 1 7 1:59 7 13 minutes
8 8 14 minutes to 2 8 6:46 8 14 minutes
9 9 3 minutes to 4 9 12:32 9
10 10 27 minutes to 9 10 7:31 10
it 28Tine: Unit e(tg\!iv*;\c@
Set A Set B u Gea‘
1 120 12 1 au eceqs 1 130
2 4 2 35 2 30 days October 2 February
3 180 3 700 3 31 days 3 summer 3 March or April 3 120
4 90 4 11 4 31 days 4 spring 4 May 4 90
5 half 52 5 31 days 5 winter 5 September 5 September, October, November
6 quarter 6 20 6 31 days 6 autumn 6 December 6 February
7 48 7 104 7 31 days 7 summer 7 February 7 $520
8 10 8 520 8 31 days 8 spring 8 January 8 16
9 2400 9 2 9 28 or 29 days 9 winter 9 December 9 16
10 36 10 120 10 30 days 10 autumn 10 January 10 3

Mighty Mentals Book B/Macmillan Education Australia Vii



Answers TG A, .

Unit 29 Money: Econeniczl ways of neking ameunts

Set A Set B Set C Set D Set E Set F

12 12 12 12 13 12

2 2 23 23 22 2 4 2 $12.50

33 3 4 31 33 35 322

4 1 42 42 4 4 45 4 $20.05

5 2 5 3 5 3 | 2 $20 + 5 cents

6 3 6 3 6 7 7

7 4 75 3 .

83 8 2 9 B $20 + $10 + $5

9 4 9 3 4 100 + $20 + $20 + $5
10 1 10 10 20 cents + 5 cents

30 2D and 3D: Prepertics

Set C Set D Set E

1 12 18 1 east 1
2 12 2 8 2 west 2%alse " . @
32 30 3 south 3 t’
4 9 4 6 4 south 4 squ rectafigle
5 5 12 5 west 5 tria rectaigle
60 6 0 6 ecast 6 fals
7 8 75 7 north 7 hexa’
8 8 7 8 north 8 octagons
9 1 9 0 9 south 9 cylinder
[ 10 9 0 0 rectangglar prism
Y

wn

1 possible 1 a card less than 7 1 1%

2 2 50/50 2 50/50 2 3

31 3 impossible 3 50/50 3

4 8 4 possible 4 50/50 4

54 2‘; certain 5 a card greater than 4 5

6 6 50/50 6 a card greater than 6 6

7 4 50/50 7 an even card 7

8 1 8 a card greater than 1 8

9 2 infessible 9 an odd red card 9

10 2 0 50/50 10

Set A Set F
1 14 1 300 1 1 1 23
29 2 48 2 2 13 2 12
3 46 32 36 3 east 3 5 3 72
4 6 4 20 4 10 4 50/50 4 3000 4 3
59 54 5 16 5 34 5 35 5 108
6 23 6 45 6 3 6 69 6 5000 6 1 whole number
7 4 7 % 7 40sqcm 7 72 7 Friday 7 3,2
8 130 8 64 8 12 8 7 8 4 8 30, winter
9 39 9 36 9 autumn 9 23 9 east 9 24
10 6 10 64 10 28 days 10 200 10 + 10 7

Vil Mighty Mentals Book B/Macmillan Education Australia



a A W N -

O YV 00 N o

What do the following
numbers combine to make?

4 tens + 7 thousands
3 ones + 6 hundreds
8 thousands + 3 hundreds + 7 unj

1 ten + 7 hundreds

5 thousands
3tengd+ 9
6 ghes + ousand
hun , + 20 thousands

7 thousands + 4 units

ands + 8 ones

%~ e@ﬁf

have $100 in $1 coins. | have

have $1 in 10 cent coins. | have

e $10 in 10 cent coins. | have

<D

What are the values of the
following numbers?

1 13 tens

27 units

bundreds

7 18th
8 53 ones

$1 coins.

10 cent coins.

10 cent coins.

4 are centimetres in 1 metre. 0

5 %crawled 10 metres. It crawled O

6 HowwN [ ‘ © Q)

7  There are O

8 | trained by running metres altogether.
9  How many $10 bills equal $100?

0 There are 100 metre runs in the 10 000 metre race.

NSW: Number NS2.1; Qld: Number concepts N3.1;
Vic: Numbers, counting and numeration 3.1; WA: Number N3.1a; SA: Number 2.6




When numbers are
rounded off, they are
taken to the nearest 1Q

3400 and 3508%
7880 and 789!

is 700;
earest

Round the followin

Umbers tq the Nearest 1000

What is the
smallest
number that,

when rounde
]

to th“ |




Sct §

What number is halfway between:

1000 and 20007?
2000 and 30007?
3000 and 40007?
4000 and 5000
5000 andg60007?

- €

1
2
Round the
following 3 251 ||
4
5

O 00 N O O A W NN =

900@ 10 0007
@ and 11 0002

Fécview purposes only

What is the biggest number that, when

ro@ to the nearest 1000, will equal:
10007

—_—
C)

9008

50007
70007
60007
20007
10 0007

©O Vv 00 N o0 o1 &~ W

—_—

NSW: Number NS2.1; Qld: Number concepts N3.1;
Vic: Numbers, counting and numeration 3.1; WA: Number N3.1a; SA: Number 2.6




A sequence is a
pattern including
humbers, letters or
symbols. Each memp
of a sequencgfis
called a tepff, a
each seglienc
patter

o)
rule. The seq 3,
o, 9.4 .Mas WPas its
3rd r‘mU3 or

thal3 times table

““Efr review plirgbs

L

5
6
7
8
9

Find the missing
terms in the

, 21, 28
_ .16, 24, 32
9,18, _ , 36
11, , 33,44
6, ,18,_ ,30
7,14, _ ,__ ,35
, 30,40

B,A ZY, __
E.C.AY
ZY, W, T, __

following sequences.

(ﬁght

6

2

What are the Mmissing terms
in the following sequences?

80, 72, 64,

oS

(oo
A

110,99,
24, 20
40




What are the rules of
Set (<) ihe following sequences?

Find the rules of the
following sequences.

1 64,59, 54, 49
2 87' 771 67, 57

7,13,19, 25
23, 27, 31, 35
78, 88, 98, 108
9, 20, 31

1
2
3
4
5
6

&9 review purpo

Find the missing terms in the following sequences.

1,2,4,8
,éso, 40, 20,

&I 3,58,
‘ @ Feb, Mar,

7
NS

Sun, Tue, Thu,
1, 10, 100, 1000,
OI TI TI FI FI —

NSW: Patterns and algebra PAS2.1; Qld: Patterns and algebra 3.1; Vic: Number patterns
and relations 3.1; WA: Number N3.4; SA: Pattern and algebraic reasoning 2.9




Number strings
—4 =

are guestions o
made up of many . + t
smaller pieces \ -5=
Work left to ght* 4 11+9-7=
5 20+8-7-=

to solve ghese
challgfgin Q
prlemb 6 25-5+6=
7 13-7+8=
0 8 16-7+2=
9 9-7+8=

14-4+9=

FC 1




1 5+45+5+2=

8+4+3=

12+3+8= 2 10+10+4+6=
20+4+10= 3 6+6+3+10=
24+ 6 + 4 =

+7+2=

8 100-50+

9 40- 20-10+2Eﬂ
60 —30 - 20 - 10 +g#2 |

O 00 N O o A WN -

' For review-purpose

Double 12 cats and then give cats left.
lve 24 dogs and buy 4 more. dogs left. CD'
yde 20 fish by 4 and double the result. fish left. \\

goals, then 5 more and then 6 more and lose by 1 go
goals.

Bring $100, sperithg en spend $10. left
in change.

Catch 12 rabbits, let 6 go and give half of the rest away. rabbits left.

Start with 20 marbles, lose 8, then lose 4 and then double what is left.
You now have marbles.

NSW: Number NS2.2, 2.3; Qld: Number concepts N3.2, 3.3;
Vic: Mental computation and estimation 3.1, 3.2; WA: Number N3.3; SA: Number 2.8




Numoe

ynit 21: fregtions end deinéls

A fraction is like a

division problem: - means

split or divide somethi

ose§ ’ el i
/7 2isa tenv

.7 ety B
sing a point. 7 ofa halfis
For rewew3 rposes only

1__ What fraction equals 0.1?7 ___
60.4 equals the fraction ___ 2 0.10f60=

3 @ s a decimal is ___

and take one of th

4

5

6 .

7 0.2 equals the fraction __— 7 010f20=_—
8 0.5 equals the fraction ___ g 0.10f50=_—
9 0.3 equals the fraction ___ 9 010f30=_—

10 6/10 equals the decimal ___ 10 0.10f90=_—




Set
What fraction of 20is 10?

1
2 What fraction of 40 is 10?7 ___
How many halves make a whole number?
3 What fraction of 100 is 507 ____
How many quarters make a whole?
4 What fraction of 100 is 10?
5 What fraction of 144 )
6  What fractiong®t 80 i m
How many g '
7 What fragifon o
How many tenths
8 What jfacti s257
7 How many halves make
9 1000 is 5007
8 How many quarters make 10%Wholg Bu
10 9 How many tenths make 6 who w
How many halves make 50 whol&hu

cored half of our team’s 8 goals. | scored ____ goals.
@Aarter of the 40 minute netball game was played in rain. It raine@

gé shoes are black. pai
8! E@u@ﬂ

| read for a quarter of an hG minutes.

| have read one-tenth of the 80-page book. | have read pages.

O Vv 00 N o0 o1 A~ W

-—

It was hot for only one-tenth of the days in November. It was not hot for days.

NSW: Number concepts NS2.4; Qld: Number concepts N3.1; Vic: Numbers,
counting and numeration 3.3, 3.4; WA: Number N3.1a, 3.1b; SA: Number 2.6




Remember that,
in measurement,
O mm = { cms;

100 cm = m apé

Should you™
mm, cm, m or
km to measure
the length of:

a tissue box?

a country?

an ant?

a cricket pitch?




2cm=____mm 1 10mm + 10 mm = cm

Whot @

g wnit!
S5cm=___ mm 2 20mm+ 20 mm = cm lovely U1

3 30mm+ 20 mm = cm

7 2cm+2cm%
8 5cm+5cm=4®

10

O

I review purposes Qi

My book is 230 mm long. This'Ts equal
<:9de 7000 m or km.
droom is 4000 mm long or m long. (Too0]

e
i
@y is 8 km or m away.

@61 line was only 85 mm long. It was mm too sh

A dd %Z.m high. Dad is 195 cm tall. His head is ?\
d -

oorw // . Q
E/fﬁt isé \@ gfifference is mm.
| QQa3 fe or false?

A 20 m cricket pitch is 80 m shorter than a kilometre. True or false?

pelow the

8 The 50 m arc in footDa

How many metre rulers, laid end to end, would equal 2 kilometres in length?

NSW: Measurement MS2.2; Qld: Measurement M3.1;
Vic: Measuring and estimating 3.3; WA: Measurement M3.1; SA: Measurement 2.5




Remember that
the outside, or
boundary, of a

shape or area is iig

What would the side
ehgths of a SQuare be

8 48 m?

segeenly

0 843 km?

equilateral triangle

square

pentagon

hexagon

perimeters
of the
following

ag

shapes be?
7 nonagon

8 decagon___
9 2hexagons__

10 2decagons




Sct €

fa
What would the perimeter o 1 L=
rectangle be if its length and width Se‘t D

. 2 L=
was:
1 6mmand4 mm? A rectangle with
2 a perimeter of L=__cmW=__cm
2 12 mm and 4 mm¢ ____ ‘
4 cm could = cm; W = cm
3 different
umb cm
4 and cm
5 Wldths How I
many can you ____cm
6
7
8

0 and 4 km:? - ' B ‘ 9
Ed®™Rview.purposes.only..

1

2 \Wertd the perimeter of an exercise book be 10 cm, 100 cm or 1000 crp

3 S 2 a classroom’s perimeter be 30 cm, 30 m or 30 km?

4 eter of a house is measured in

5 ter of Australia is its coastline. True or false?

6 be closed to have a perimeter. True or false

:

8 The perlmeter G

9  You can multiply by 5 t0 a pentagon. True or false?
10

You can measure the perimeter of an octagon by multiplying by 10. True or
false?

NSW: Measurement MS2.2; Qld: Measurement M3.1;
Vic: Measuring and estimating 3.3; WA: Measurement M3.1; SA: Measurement 2.5




—

Area deals with the What woulglt
space inside a g
boundary or
perimeter.
Remember thgy

O Vv 00 N o0 U1 b~ W

1T L=12m

oo rgtanglogbe?
ot
‘gv;w=5cm
L=8cm; W=4cm
L=12cm; W =6 cm
L=7cm; W=5cm
L=11cm; W=8cm
L=9cm; W=8cm
L=10cm; W =8 cm
=20 cm; W =3 cm

exLpUr

p~\repe=, 6 square cenﬁ@. i
L Edc2\So e -

Length = 7 m. Area = 42°580are metres. Width = ____
Length = 9 m. Area = 54 square metres. Width =
Length = 5 m. Area = 20 square metres. Width =
Length = 12 m. Area = 132 square metres. Width=__
Length = 20 m. Area = 200 square metres. Width = __

Set B Find the areas of thi

following squares.




Would you use square
Se‘t D centimetres or square metres Would you measure the
to measure the areas of: @ areas of the following things

1 aroom? in square centimetres or
Square metres?
"
2 avegetable patch® 1 a garage floor
3 the front cover of a book?
a pool cover

4 astamp?

5 apiece of A4

6

7

8 a whiteboard ‘

? a $100 note \_’
10

et S
F6/eview purposes only

Which Australian state has the biggest area?
@ich Australian state has the smallest area?

f a computer screen is less than 1 square metre&a
an 1 square metre in size. True faIE'P

@ua'&\g ca”True E—

Does painting a wall d€8 &ter?

A 6 metre long by 5 metre wide room has an area of 22 square metres.
True or false?

Cutting lawns deals with area. True or false?

NSW: Measurement MS2.3; Qld: Measurement M3.1;
Vic: Measuring and estimating 3.3; WA: Measurement M3.1; SA: Measurement 2.5



Change
kl’O

Remember

that 1000 grams
equals | kilogram
and that g and kg

Change into grams.

3 kg

27 2
5 30

6 7 kg
7 2% kg
8 4% kg
9 6% kg

m
Q
q
q
-
=,
q°
§/
=
=)
=
13
s
-}

A
Set E

1 ababy
O
measlge (Ngde 2 amouse
things i
or in kilog

:} a Year 4 child
/// a box of biscuits _
i Egucal

a dollar coin

a button

a full school bag

a tennis racquet




1009 Choose the better measure.

. 1 9009 __— @
B .

1 apple:2gor200g

How far away 3 5009_—
from 1 kilogram 2 butter: 250 g or 2 kg
are the following 509 —

potato: 300 g or 3 kg
masses’? 5 2509_ —

brick: 6Og or 6 kg

dog: 50 g or 5 kg \J

bottle of water: 750 &7
ly T~
W

St F

I Weigq

e weighs 500g. shoes weigh 1 kg.

F review purposes on

3 kilograms or ms mofe than my sister.

icy poles, each weighing 100 g, will equal 1 kg.
ny 200 g apples will weigh 1 kg?

are to mass.

Metre is 18 0 is to mass.

- 3 A ()
A peach weigh kd. Ab ~J 108 %I‘ - _
P g !)E 'p@ g

Oil floats on water. Is it N&ewie Water?

© Vv O N o U A~ W N =
2
c
o
=

—

If you drink a glass of water, your weight will increase. True or false?

NSW: Measurement MS2.4; Qld: Measurement M3.1;
Vic: Measuring and estimating 3.3; WA: Measurement M3.1; SA: Measurement 2.5




Change these
capacities into litres. Change these capacitj
ities

Remember that into millilitres,

1000 millilitres (mL)
equals | litre (L) anc

1000 mL
10 000 mL
1500 mL
3500 mL
8500 mL
5500 mL
10 =« 10 500 mL

For review pur

9 1000 L
10 10000 L




Choose the more sensible measure.

Would you measure these

1 aglassof milk: 200 mLor2L_____ capacities in millilitres or in litres?
2 abottle of wine: 750 mLor7L___ 1 acanofsoup
3 abucket: 80mLor8L__ 2 acupoftea__
4 an egg cup: 50 mL or 500
5 :
6
| (7
8 a drink @
9 a a sauce bot
10 petro k: 50 Lor500L 9 a baby bath !

10 a soy sauce bot&

| weighed 35 kg and then drank a litre of water. | now weigh
0 mL of water weighs g. . (U

grams.

in fluids in the race. My weight drop g.
,7n iceis
A 50 gram can, Whg qu mL
of soup.
A cup of coffee contains 320 mL. About cups equals 1 litre.
20 L of water comes from my hose in a minute. This is equal to kg
of water.

NSW: Measurement MS2.3; Qld: Measurement M3.1;
Vic: Measuring and estimating 3.3; WA: Measurement M3.1; SA: Measurement 2.5




We use both
digital and analogue
(or sweep-hand) clocks

our everyday livegeThe \gh
following quespons det 5:22

with the rgfatio
between gfese 4o |

of tellingf’tim
that thgre ar minutes

ih g »@m (00!

Set C‘

mes to digital time

Forkeyie\ ﬁ"hmnl
<D

§hange these sweep-hand

Change these digital times
A to sweep-hand times.

4 217 3

6 12:27

7 604/“
g 129 __
9 4:19

s, How many minutes from: ~ (U

mutes to 6

mutes to4

to‘IZ

20 mi
2 minutes 18
/ minutes to 11
1 minute to 2

14 minutes to 7/

28 minutes to 1

O Vv 00 N o0 o1 & W DN

—

29 minutes to 8

1 3:05 to 25 minutes past 37 (Y

2 2:40 to 10 minutes to 37

3 12:35 to 5 minutes tQ

4 6:05 to half past 67 \
15 1qQ @1 teggPast 77

@au to 7:057

7 12 minutes to 6 to 6:017

8 3 minutesto11to 11:117

9 4 minutes to 9 to 9:05?

10 6 minutes to 8 to 8:087?




|
Change these sweep-hand Change these digita
times to digital times. times into sweep-hand times.

23 minutes past 8 1 655___

17 minutes past 11 2 840__

/ minutes past 6

12 minutes past 4 Z‘
28 minutegBast B @8 K

148 =

4 A4
t5

O 00 N O o A W N =

5 miggfes peel N ) 6 D .
19Mminute t 7 12:49 A

2m past 12 8 1:46 \“
1 teS past 3 9 3:57 A

-

9 ginutes past 8 10 8:33

it was 10 to 3. It's now
7 The marat n/
at .

9 Lunch starts at 12:40 and lasts for 55 minutes. Lunch ends at

or 2 hours and 10 minuteg, 0:00 and finishing

Our clock shows 6:11, but is 12 minutes fast. The actual time is

X

NSW: Measurement MS2.5; Qld: Measurement M3.2;
Vic: Measurement time 3.2; WA: Measurement M3.1; SA: Measurement 2.5




Time can be seconds
split up into units as
small as a second

and as large as j \g m
ow ( 1 1/2 hours = /Q‘
action @
?

millennium. Seg

well you cgff moy, 5 12 hoursis what fr

from o . 6 6 hoursis what fraction of

anothgf in hours A .

rcise® 7 2days= —— ,

O vz
9 100days = —— hours _
10 1 1/2 days = ——

In which seasons are .
the following months? In which months do the
following special days a

Christmas

day”

Halloween

Easter

April

O Vv 00 N o0 on o W N

e Day

Feb

ebruary 7 St Valentine's Day
November

8 New Year’s Day

A t

ugus 9 New Year's Eve

10 May '
10 Australia Day




How many days are in
the following months?

1  November:

3 100 Weeks =
77 days =

October:

February:

June:

——
- .

Fer.review. purpdses only.

2__ Which is the only month that can last for exactly 2 fortnights?

3 am 10 and so | must have lived for months. %
1/2-hour movie lasts for minutes. \'K
! g )

Mg contains the months of

The 40-hour famine lasts for 1 day and hours.

| sleep for 8 hours a night. In days this will equal a whole day
of sleep.

NSW: Measurement MS2.5; Qld: Measurement M3.1;
Vic: Measurement time 3.1; WA: Measurement M3.1, 3.1a; SA: Measurement 2.5




How many coins

would be required to
Making amounts make the following

of money

economically means as Oss'bt
as qmcklg as \g
possible by usip§ the ( cents

smallest nugfbe 3 45 cents
notes anggoin 4 50 cents
possiblgl Re
) 5 60 cents
to alwgys st ith
the ; ble 6 80 cents @
bte h. 7 85 cents
8 90 cents

5 $255 [:]

és m@v

For reviewcpurpos

HS otes 1 %620

ano |@ould 2  $6.40
be reQui

make the 3 $7.80__
G
amounts ofgnofie
as quickly as ///4 $8.40
I '
|
6 O O u

possible?

TN

A

7 $1030____
o 8 $12.10
9 $16.50

10 $18.40 J
h\ e— -




o

How many 1 . " s105
ow man
notes Wguld 2 $45 D yld
be required notes wou 2 $110
to make the 3 $50 D be required
following to ma|.<e the 3 $140
am.ounts as ollowing 4 $180
quickly as
possible’? 5 $195

I /.30 Iora ci ' a iy NQmI
FOE FOvTeT Putposes orly
My friend bought his ticket and paid with a $20 note. His change was $
@aid $43 for the football as economically as possible. He used o ,(U
an [

coins. \
@nge from $100 would you get if you bought a shirt for $Q‘D:

% change from the shirt be given?
C

9  Make $85.00 as quickly as possible.
10  Make $245.75 as quickly as possible.

NSW: Number NS2.4; Qld: Number concepts 3.1;
Vic: Mental computation and estimation 3; WA: Number N3.1a; SA: Number 2.8




How many sides are on
the following polygons?

2D shapes,
called polygons, are
flat and can be drawn

on a piece of papef. tangular prism

2
Polygon comgg’trom ombuses ‘. B
r 5 squares @nde
4

How many faces are on
the following polyhedra?

2tr

cube

Greek ('many/cor
5 pentagons

3D shapes, ¢
polyhegira, epth
and ¢ ed up.
Polyiedia cofies from
Gregk faces’).

Nofth, sQuth, east and

was are i iewd

dompass points.

(a\

i larVorism

2 hexagons y

3 heptagons

5 hex@lp m
4 octagons

e

sphere

purpgses ealy-|

8 hexagerm amid
9 cone m
a quarter turn left? 10 océ&! ,
Set t % ,a half turn right? g
Start by facing 4/ If turn left? (\
q ﬂ“u ﬁ%\g
g8 a full turn left? k&/

north. Which
a threc™®
7 a full turn right?
9 1 1/2turns right?

0o N o g b~

2 nonagons

1 aquarter turn right?

pyramid

'wy
direction would S /€\O*?
you be facing if

you went:

10 1 1/2 turns left?



How many vertices
or corners are on the
following polyhedra?

How many edges are on
the following polyhedra? @

cube

—_—

cube

rectangular prism

2 rectangular prism

cylinder

linder

Spaial
o

square

0o N O o1 AW DN -

gctagonal pyramid

Meview

A rectangle can tessellate. True
@cle can tessellate. True or false?
exagon can tessellate. True or false?

&

cone

octagonal pyra

purposes o

alse?

o shapes are used to make a rectangular prism?

des altogether. They are

| have 9 similar shapes that have

A tube is an example of a

Three cubes stuck end to end make a

NSW: Space and geometry SGS2.1, 2.2a; Qld: Space S3.1, 3.2; Vic: Shape and space 3.2,
Location 3.1; WA: Space S3.2, 3.1; SA: Spatial sense and geometric reasoning 2.12, 2.14




O em Tace doOyV
How many cardggffe:

even? .
odd? |/
red gf bla

O VW 0o N O~ U1 A W N -

—

—_—

N

©O Vv 00 N o0 on o W N

bidger

o

betlee and 8 inclusive?

bigger than a hahc of 127

red cQI‘n?rLEVI

black and odd?

\sl/ Answer true (T) or false (F) MZL’ >, 60r7

For these questions, imagine that you have 10 cards numbered
{ to 10. Cards | to S are red and cards 6 to 10 are black. Shuffle the cards

PAVrifE in’, '50
" f

an even-number

chances ®§drawing the following
Q', or ‘impossible’.

an 11

@?j

al2oral

a number less than 20

o o A W N —~CH

a black card

q;urpeses'a&n

a green card

o3x3?

/)

L]

O
8

of drawing an even card is the same as for a black cagd

o the following statements.

& Thence of drawing a red card is the same as for a black card.

Th

The chgnée rawing an odd card is the same as for a blac

The chanc&g an odd card is the same as oy eVgfcard.

E@ uea \o #odd card.

The chance of drawing an odt"eave grre as for a black even card. __

The chance of drawg

The chance of drawing a 1, 3, 4, 7 or 9 card is the same as for a black card.
The chance of drawing a 1 or 9 card is the same as for a 2 or 10 card.
A 9 or 10 card has a greater chance of being drawn than a 1 or 2 card.

The chance of drawing a 5 card is only half the chance of drawing a 10 card.

(U

a red card _

J I\




Circle the card that has the better

chance of being drawn. If it is a
50/50 chance, don't circle either.

What is the chance of

1 Acard less than 7 or an odd number drawing (answer a5 fraction):
2 An odd card or a red card T a¢? D
3 An even card or an odd caze ’ a 10? D
4 Aborall 1 ‘
5 A card greatgf” { 9 mber? D
6 a card smaller than 4 _
7 n its number name or an @
8 r than 1 or a card smaller than 8 . D
9 d rd@l card or an odd black card
10 JAn evelred card or an odd black card 10

@ any of the 10 cards have 3 letters in their number name? ‘ D’
ha e chance of drawing one of these cards?
@y of the 10 cards have more than 3 letters in their numb

chance of drawing one of these cards? _____

How mé¥ are red and have 3 letters in their numb

eir number name?

How many cards greater than 6 have 4 letters in their number name?

O Vv 00 N oo o1 A W N =
>
Q
—~+
7y
—+
>
('D

—

What is the chance of drawing such a card?

NSW: Number NS2.5; Qld: Chance and data CD3.1;
Vic: Chance 3.2; WA: Chance and data 3.1; SA: Chance 2.3




Here are

some revision
guestions that
cover all of the
things you ha

worked thrg gh divided by 11 ___

since Up |

The 12th odd number

UCkI 7 Ten thousand has ___ zeroes.
0 8 126 to the nearest ten

9 12,21,30,
10 3 wholes equal

Aa

oW

halves.

(;)

©O Vv 00 N oo on Ao W N =

What day of the week will it be 5 weeks after Friday?
How many coins will equal $4.70 made as quickly as possible?

A half turn from west will point to

-—

As a fraction, the chance of cutting a 5 with cards numbered 1 to 6 is




50+7=7r_ +
T —
7 + 7 doubled - $36 = $20 r—
1 e shape —
24 +2+2=__ Abasketba\\s S

1000=100x___

O 00 N O O A W NN =

-
o

FeRxeview purpo
‘ @d the sum of 11and 12.

C¥.
@r, when halved, equals 547

Ten tentl #/ —‘
$84 made as & a|ﬂ@@,&\p(\

June has days and

notes and coins.

2 cubes have edges altogether.

O Vv 00 N o un

With 10 blue cards and 5 red cards, the chance of picking a red card, as a
fraction, is




Add To group together Octagon
Altogether The answer to an addition problem Penta
Analogue clock A sweep-hand clock Pentagon
Autumn March, April, May Perimeter

Bi A prefix meaning 2
Centi
Centimetre

A prefix meaning

Century
Composite

Quadrilateral

Quadruple
Quotient

Regular (shape)

one number is away from
hef'number
split up into equal pieces or to

Remainder
share
Dag@lec@gon shape with 12 sides Remove
Do To add a number onto itself Rhombus
Dozen 12
Edge A boundary Right angle
quilat Round

Sides the same ler@th
or-fevie
Factor hat divi i ntmb

ortnight 14 days Season

The standard unit for mass Second

Counting in lots Semester

Divide into two equal parts Sequence

Hendédga A shape with 11 sides Share

Hep shape with 7 sides Solve

shape with 6 sides Spring

inutes Subtract

Kilo & meaning 1000 Sum

Kilogram 0 gffalys ¢ Summer

Kilometre 10QQ 3{/ Term

Leap year A yealg Terfn

Litre The standa C acE t
Margin How far two nu u d
Metre The standard unit of leng

Millennium 1000 years Tri

Millilitre One-thousandth of a litre Triple

Minute One-sixtieth of an hour Twice

Month One-twelfth of a year Vertex

Multiple The answers to times tables

Multiply Count groups Week

Nonagon A shape with 9 sides Winter

Year

Octa A prefix meaning 8

purpaseson

A shape with 8 sides
A prefix meaning 5

A polygon with 5 sides

The length of the boundary of a

shape

A 2D shape with many corners

R shape with many faces
O®gwith just two factors

a multiplication

m
fi ning 4
A 4-s ;:IQ
iigion qu@stion

To multi

The result S

Having the safhe side, lghgt

What is left ove r a divisi@n sum

has been comple

To take away
A 4-sided figure wi jdell but
no right angles w

An L-shaped angle of 90 degree
To take a number tole nearest

ry
One-sixtieth of a minute

Half a year at school . m

A number pattern \\
To divide into equal
To find the answer
September, Oct%

A quarter of a year

To take away

gfoups of

The answer to an addition problem
A prefix meaning 3

To multiply by 3

2 times, or to double

The corner where lines meet on 2D

or 3D shapes @

7 days
June, July, August
365 days
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